
      

 

  

 

 

 

 

 

 

 

 

      

 

       

 

 

 

 

         

 

 

 

 

       

 

 

 

 

       

 

 

 

 

 

Solving Trig Equations (Using the Unit Circle) 

To solve trig equations:  ____________________________________________________________________________. 

Infinitely Many Solutions 

Examples:  Solve the following trig equations for values between 0 𝑎𝑛𝑑 2𝜋. 

1.  2𝑠𝑖𝑛𝑥 − 1 = 0 2.  2𝑠𝑖𝑛𝑥 + 1 = 0 

3.  𝑠𝑖𝑛𝑥 + √2 = −𝑠𝑖𝑛𝑥 4.  𝑡𝑎𝑛𝑥 + √3 = 0 

5.  3𝑡𝑎𝑛2𝑥 − 1 = 0 6.  𝑡𝑎𝑛2𝑥 − 1 = 0 

7.  √2𝑠𝑖𝑛𝑥 + 1 = 0 8.  𝑡𝑎𝑛2𝑥 − 1 = 0 



 

 

 

 

Unit Circle 
Positive: si.n. csc 
Negative: cos. tan. sec. cot 
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Positive: sin. cos, tan, sec. csc, cot 
Negative: none 

3 0 

0° 0 (1, 0) 
360° 2:rt 

300 11:rt 

315° 

ooo 7:rt 

5:rt (1· -'I]) 
{½' -1) 

Posicivc: cos, sec 
Negative: sin, tan, csc. cot 


